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SSC GD 2022-23

A sum of Rs. x is divided among A, B and C such that the ratio of the share
of A and B is 3 : 4 and the ratio of the shares of A and Cis 5 : 8. If the
difference between the shares of B and that of C is Rs. 312, then the value of x
will be:

X B hi AT T A, B 3T C oh =T 30 aYE Tar9TINTd TehaT ATAT & T A 3TR
B < T&&0T T 1UTA 3 : 4 § 3R A 3R C o TZ&a1 &1 31U 5 : 8 31 I1g B 3R
C o f2at o o &7 37T hT 312 A 2, dT x T HIT T B2

a) Rs. 4,602
b) Rs. 4,524
c) Rs. 4,680
d) Rs. 4,446
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A shopkeeper blends two varieties of tea, one costing Rs. 320 per kg and

another costing Rs. 240 per kg, in the ratio 9 : 11. If he sells the mixture at Rs.

325.68 per kg, then his gain percentage is:
Ueh JRTER T <ht ot TRl Teh <ht shiwre 320 Tor wf forar iR gadt <ht

ShIA 240 U Td FRUT 2, T 9: 11 % I7dTa § TS shar 81 afe = fmgor =6t
325.68 TUY U feRUT U 1T 8, 9 SHHT ATH Tid9rd 2:

a) 16.8%
b) 20%
c) 15.3%
d) 18%
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Pipes A and B can empty a tank in 15 hours and 18 hours, respectively. Pip
C alone can fill the tank in 6 hours. If all the three pipes are opened together,
then two-third part of the tank will be full after:

UTST A 3T B Ueh ¢k ohl SHATT: 15 ©¢ 3R 18 B¢ W WAt ot Hehd 3l U137 C
TREAT ok <Rl 6 T W WX TehdT g1 AT AT UT3UT Rl Ueh Tl WA feam ATaT 2,
AT &k o1 SI-TaeTs et foha ow e & W) STe?

a) 18 hours
b) 12 hours
c) 15 hours
d) 22 Y% hours
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The cost price of two articles A and B are in the ratio 5 : 4. While selling these
articles, the shopkeeper gains profit of 10% on article A and 20% on article B
and the difference in the selling price is Rs. 560. The sum of the cost prices of
article A and B (in Rs.) is:

I IAEGAT A 3R B &1 HT Hed 5: 4 o FTATA H 1 37 TEJAT ! Jold AH,

SERTER TET A WX 10% 3 & B U 20% hT T ITH hidT § IR oeha qea |
3R 560 TUY §| T A 37 B o T HeAT ST ARTHS (TUH H) FIT 82

a) 5400

b) 6300

c) 7200
d) 8100
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A person deposited Rs. 8,000 in a term deposit for 1 and a half year, which

gives half yearly compounded interest at a rate of 10% per annum. The

compound interest will be:

Uk Sk o TTAT STHT H B¢ Y oh [T 8,000 UL THT fehT, ST 10% T O <hl

Y FY-ATh TAhTg, AT ST g Thelleg SATHA BHT:

Rs
Rs
Rs
Rs

. 1,020.00
. 1,261.00
. 1,250.00
. 1,040.00



SSC GD 2022-23

The average height of 35 students in a group is 156 cm. If 8 students of
average height 154.5 cm leave the group and 13 students of average height 158
cm join the group, then what will be the average height (in cm) of all the

students now in the group?

U a0 | 35 et it oftem g 156 9t 71 Al 154.5 9t Y oitem
g o 8 Toremmeff g Big 34 € o 158 |t i oftea g o 13 et awg
H ITITHE 21 ST 8, a0 908 | o1 T oot &y sitad =g (AT ) fera-
Fr? a) 156.75

b) 155.62

c) 155.85
d) 156.95
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A train travels at a speed of 108 km/h and another train at a speed of 25

m/sec. The ratio of speed of first train to that of the second train is:

Teh ¢ 108 TeReii/eeT <hl =ITel § 3T GHL ¢ 25 HICUHEhE chl BITed © ATAT ehlelt
8| TECAT ¢ SR T ¢ hY |Tell ol STTUTA o1 272
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The marked price of an article is Rs. 760. During off season, it is sold for Rs.

722. Determine the discount percentage on the article.

Uk T ohT 3iTehd Wod 760 TUA B AT TS o SN, TH 722 U H AT SATAT
31 TET WX P TTA9Td A1 hIfg)

a) 8%
b) 5%
c) 4%
d) 6%
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When Rs. 176 is divided in the proportion 1 : 4 : 6, what is the difference |

between the largest share and the smallest share (in Rs.)

T 176 TTA T 1 2 4 : 6 o A7UTa § farerriora fomam s 2, o aae 72 f7e i
aad B FHd (B W) o o= oAt o foraAT 22

a) 80
b) 16
c) 96
d) 64
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A shopkeeper sold an article for Rs. 1716, after allowing a 12% discount on its
marked price. If he had NOT allowed any discount, he would have earned a
profit of 25%. what is the cost price (in Rs.) of the article?

Teh JoRTHER = Teh & hl 38k 3 Tohd Hed TR 12% h BT I 1716 T0A | =
TS IA hlg TE TE1 &1 FedT, AT IH 25% KT ATH FATl TG HT 36l Hed (TUA H)
FATE?

a) 1650
b) 1270
c) 1720
d) 1560
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